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FELAEHAY B S] BRI

m in
KE 1 39.37
2.54X1072 1
m® 2 in® U.S.gal. U.K.gal.
1x1078 1 61.0271 0.26419 0.2200
o 1 1x10°3 61027.1 264.19 220.0
1.64%X107° 0.01639 1 0.00433 0.0036
3.79%107° 3.78543 231 1 0.8327
4.55%107¢ 4.54596 277.413 1.2010 1
kg Ib
B8 1 2.20462
0.45359 1
N dyn kof
1 1X105 1.019 72X 10"
2 1X107° 1 1.019 72X 1076
9.806 65 |9.80665x10° 1
Pa MPa kgf/cm? bar psi
1 1Xx1076 1.0197%x107% 1Xx107° 1.4504x10~*
o 1x108 1 1.0197X10 1X10 1.4504%x102
9.80665% 10%/9.80665% 102 1 9.80665x 101 1.4223x10
1Xx10°% 1X107! 1.0197 1 1.4504%X10
6894.757 | 6.8948x1072 |7.0307 X 1072| 6.8948 %1072 1
PaxN/m2 | MPazN/mm? | kgf/mm? kgf/cm?
1 1x107% {1.0197%X1077| 1.0197X107°
I} 1x10° 1 1.0197%107'/ 1.0197 %10
9.80665 X% 108 9.8067 1 1X102
9.80665x%10%/9.8067%1072| 1x107? 1
J kW:-h kgf-m kcal
I 1 2.7778x1077| 1.0197X107"| 2.3889% 10~*
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AE 9.8067 |[2.7241x107° 1 2.3427x1078
4.1861%10°% | 1.1628X1078| 4.2686 X 10? 1
W kgf-m/s PS kcal/h
h&E 1 1.0197X10771.3596 X107/ 8.6000X 10"
(Th=E. ) 9.8067 1 1.3333X 1072 8.4337
R 7.855x102 | 7.5%10 1 6.3253%10?
1.1628 1.1857x1071/1.5810%x 1073 1




Pa-s cP P
1 1x108 1X10
FHE
1x10-8 1 1X1072
1X10~1 1X102 1
m?/s cSt St
. 1 1x10° 1x10%
2 1x10- 1 1x10-2
1x10-4 1X102 1
W/ (m+K) |kcal/ (h-m-°C)
S 1 8.6000x10 1
1.1628 1
W/ (m?-K) |kcal/(h-m?2-°C)
BRI 1 8.6000%10 1
1.1628 1
. kcal/ (kg+°C)
JkaK) "ol (geee)
te#R 1 2.3889% 104
4.1861x%108 1
mERER
OC OF OC OF
—40 — 40 + 80 +176
—-20 - 4 +100 +212
0 + 32 +120 +248
mE +20 + 68 +140 +284
+40 +104 +160 +320
+60 +140 +180 +356

°C=2 x (*F—32) °F=%><°C+32
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